G. Niklasch and R. Quême

[OM 65] O. T. O'Meara, On the finite generation of linear groups over Hasse domains, J. Reint Angew. Math. 217 (1965), 79-108.

[P75] M. Pohst, Berechnung kleiner Diskriminanten total reeller algebraischer Zahlkörperibid. 278/279 (1975), 278-300.

[P77] — The minimum discriminant of seventh degree totally real number fields, in: Number Theory and Algebra, H. Zassenhaus (ed.), Academic Press, New York et al. 1977, 235-240.

[PWZ 82] M. Pohst, P. Weiler and H. Zassenhaus, On effective computation of fundamental units (II), Math. Comp. 38 # 157 (1982), 293-329.

[PZ89] M. Pohst and H. Zassenhaus, Algorithmic Algebraic Number Theory, Cambridge University Press, Cambridge 1989.

[Q82] R. Quême, Étude des algorithmes de divisibilité et de factorisation des anneaux el monoïdes de fractions, Thèse de 3eme cycle, Université d'Orsay, 1982.

[R 64] C. A. Rogers, Packing and Covering, Cambridge University Press, Cambridge 1964.

MATHEMATISCHES INSTITUT TECHNISCHE UNIVERSITÄT MÜNCHEN Postfach 20 24 20, D-W8000 München 2 Germany

32 Hameau de la Caravelle Port Sud F-91650 Breuillet France

> Received on 17.11.1989 and in revised form on 12.3.1990

(1990)

ACTA ARITHMETICA LVIII.2 (1991)

The density of the set of sums

b

IMRE Z. RUZSA* (Budapest)

Let $1 \le a_1 \le a_2 \le ...$ be a sequence of integers, and let S be the set of all sums of the form $\sum e_i a_i$, where $e_i = 0$ or 1.

THEOREM. If

$$a_{n+1} \leqslant 2a_n$$

for all but at most finitely many values of n, then S has an asymptotic density.

This problem was proposed by U. Zannier at the 1989 September number theory conference in Amalfi. In [1], he proves the same conclusion under the stronger assumption that $a_{n+1} \sim a_n$. I heard it from P. Erdős at the DIMACS conference in October 1989. He also asked how (1) can be weakened, in particular, whether

(2)
$$a_n \leq a_1 + a_2 + \ldots + a_{n-1} + c$$

Is sufficient. My proof makes a heavy use of (1). It is easy to see that if we do not impose any restriction on the sequence (a_i) , then S need not have a density. Taking long intervals and large gaps in (a_i) one can easily achieve $\overline{d}(S) = 1$ and $\overline{d}(S) = c$ for an arbitrary prescribed number $0 \le c \le 1$, and I believe even $\overline{d}(S) = c$, $\overline{d}(S) = C$ is possible with an arbitrary pair of numbers $0 \le c \le C \le 1$.

(1) or (2) implies that $\underline{d}(S) > 0$, even that S has bounded gaps.

S(x) will denote the number of integers $s \in S$, $1 \le s \le x$.

LEMMA 1. If $x = a_{i_1} + a_{i_2} + \ldots + a_{i_k}$, where $i_1 > i_2 > \ldots > i_k$ and $y < a_{i_k}$, then

$$(3) S(x+y) \geqslant S(x) + S(y).$$

Indeed, all the numbers x+s, where $s \in S$, $1 \le s \le y$, are elements of between x and x+y.

Write

$$u=d(S), v=\overline{d}(S).$$

^{*}Supported by DIMACS Center for Discrete Mathematics and Theoretical Computer Science, a National Science Foundation Science and Technology Center - NSF-STC88-09648.

Density of the set of sums

171

LEMMA 2.

$$\lim S(a_n)/a_n = u.$$

Proof. Write

$$w = \limsup S(a_n)/a_n$$
.

We are going to deduce a contradiction from the assumption w > u. If $S(a_n)$ is large, we shall show that every S(x) is large. We shall use the definition of u in the following form: for every $\varepsilon > 0$ there is a $K = K(\varepsilon)$ such that

(4)
$$S(x) > (u-\varepsilon)x - K$$
 for all x .

If $S(a_n)$ is large, first we find an m such that S(t) is large for $a_m/2 \le t < a_m$. Let m be the smallest subscript for which $a_m \ge 2a_n$. By definition, we have $a_{m-1} < 2a_n$, consequently $a_m < 4a_n$.

By Lemma 1 and (4) we have

(5)
$$S(a_n + x) \ge S(a_n) + S(x) \ge S(a_n) + (u - \varepsilon)x - K \quad \text{for } x < a_n.$$

In particular, we find

(6)
$$S(a_{m-1}) \geqslant S(a_n) + (u - \varepsilon)(a_{m-1} - a_n) - K.$$

For $v < a_{m-1}$ the same argument and an application of (6) yields

(7)
$$S(a_{m-1}+y) \ge S(a_{m-1})+S(y) \ge S(a_n)+(u-\varepsilon)(a_{m-1}-a_n+y)-2K$$
.

For every $a_n \le t < 2a_{m-1}$, which includes our desired interval $[a_m/2, a_m)$, w^{ℓ} can apply either (5) or (7), and we have anyway

$$S(t) \ge S(a_n) + (u - \varepsilon)(t - a_n) - 2K$$
.

If we take an a_n such that $S(a_n) > (w - \varepsilon) a_n$ while also $a_n > 2K/\varepsilon$, then this implies

$$S(t) > (u - \varepsilon) t + (w - u - \varepsilon) a_n$$

and taking into account that $t \leq 4a_n$ we conclude

(8)
$$S(t)/t > u - \varepsilon + (w - u - \varepsilon)/4 = z > u$$

if $\varepsilon < (w-u)/5$. For this z we have infinitely many m such that (8) holds for $a_m/2 \le t < a_m$.

Now take such an m and let $0 = d_0 < d_1 < \dots$ be the sequence of integers representable in the form

$$\sum_{i \ge m} e_i a_i, \quad e_i = 0 \text{ or } 1.$$

By (1) we have $d_{i+1} - d_i \le a_m$. If there are two consecutive differences whose sum is at most a_m , then we can omit a d_i while keeping the gaps below a_m ; by

repeating this process we get a subsequence (D_i) which satisfies

$$(9) D_{i+1} - D_i \leq a_m, D_{i+2} - D_i > a_m$$

for all i.

A repeated application of (3) yields

(10)
$$S(D_k) \ge \sum_{i=0}^{k-1} S(D_{i+1} - D_i - 1)$$

the -1 is necessary to make it work also in the extremal case $D_{i+1} - D_i = a_m$. To the summands we apply the inequality

(11)
$$S(D_{i+1}-D_i-1)>z(D_{i+1}-D_i-1)$$

if $D_i + 1 - D_i > a_m/2$, while for $D_{i+1} - D_i \le a_m/2$ we cannot say anything better than

(12)
$$S(D_{i+1}-D_i-1) > (u-\varepsilon)(D_{i+1}-D_i-1)-K$$

by (4). Since at least every second gap is large, the total length of the large gaps is at least half the total length of all gaps, minus possibly the last one. This means that from (10), (11) and (12) we can conclude

$$S(D_k) > \frac{z+u-\varepsilon}{2}D_k - k(K+1) - a_m.$$

 T_0 estimate k, we apply the second inequality of (9) to find

$$k \leq 2D_k/a_m + 1.$$

For a general number y, $D_k \le y < D_{k+1}$, we get

(13)
$$S(y) \ge S(D_k) > \frac{z + u - \varepsilon}{2} (y - a_m) - \left(\frac{2y}{a_m} + 1\right) (K + 1) - a_m.$$

If we take for instance $\varepsilon = (z-u)/6$, which determines a K, then we choose an a_m such that $(K+1)/a_m < \varepsilon$; then (13) implies that

$$S(y) > (u + \varepsilon) y$$
 – constant,

a contradiction to the definition of u.

Proof of the Theorem. We estimate a general S(y), $a_n \le y < a_{n+1}$, from above.

 $S(y)-S(y-a_n)$ is the number of integers $m \in S$, $m \le y$, for which $m-a_n \notin S$, thus it is a monotonic function of y. Comparing its values at y and a_{n+1} we find

$$S(y) - S(y - a_n) \leq S(a_{n+1}) - S(a_{n+1} - a_n)$$

that is,

(14)
$$S(y) \leq S(y-a_n) + S(a_{n+1}) - S(a_{n+1}-a_n).$$

Now take an arbitrary positive ε . By definition of u, v and Lemma 2 we can find a K such that we have

$$S(x) \leq (v + \varepsilon) x + K$$

$$S(a_k) \leq (u+\varepsilon)a_k + K$$

$$S(x) \ge (u - \varepsilon)x - K$$

for all x and k. Applying these inequalities in this order to the terms of (14) we obtain

$$S(y) \leq vy - (v - u)a_n + \varepsilon(y + 2a_{n+1} - 2a_n) + 3K.$$

Taking into account that $a_n \ge y/2$ and $a_{n+1} \le 2y$, this gives

$$S(y) \leqslant \frac{u+v}{2}y + 5\varepsilon y + 3K.$$

Dividing by y and taking the lim sup we get

$$v \leq (u+v)/2 + 5\varepsilon$$
.

Since this holds for every $\varepsilon > 0$, we have $v \le u$.

Remark. (1) was used several times in the course of the proof. The crucial one seems to be that in the proof of Lemma 2 to infer $d_{i+1} - d_i \leq a_m$: in the rest weaker assumptions would also work.

Acknowledgement. I have profited much from discussing the problem with Professor P. Erdős.

Reference

[1] U. Zannier, An elementary proof of some results concerning sums of distinct terms from a given sequence of integers, to appear in Studia Math. Sci. Hungarica.

DIMACS, HILL CENTER RUTGERS UNIVERSITY P.O.B. 1179, Piscataway NJ 08855-1179, U.S.A.

MATHEMATICAL INSTITUTE OF THE HUNGARIAN ACADEMY OF SCIENCES Budapest, Pf. 127 H-1364 Hungary

ACTA ARITHMETICA LVIII.2 (1991)

An additive problem of prime numbers

b

AKIO FUJII (Tokyo)

1. Introduction. Let $\Lambda(x) = \log p$ if $x = p^m$ with a prime number p and an integer $m \ge 1$, and = 0 otherwise. We put

$$r_2(n) = \sum_{m+k=n} \Lambda(m) \Lambda(k), \quad S_2(n) = \prod_{p|n} \left(1 + \frac{1}{p-1}\right) \prod_{p \neq n} \left(1 - \frac{1}{(p-1)^2}\right).$$

It is a long standing conjecture of Goldbach that

$$r_2(n) > 0$$
 for even $n \ge 6$.

Quantitatively, it is a conjecture of Hardy and Littlewood that

$$r_2(n) \sim nS_2(n)$$
 as even $n \to \infty$.

In this article, we are concerned with the asymptotic behavior of the sum

$$\sum_{n \leq X} (r_2(n) - nS_2(n)) \quad \text{as } X \to \infty.$$

We recall a well-known result related with this problem. It is shown by yan der Corput [2], Chudakov [3] and Estermann [4] that

$$\sum_{n \le X} (r_2(n) - nS_2(n))^2 \leqslant X^3 (\log X)^{-A},$$

where A is any positive constant. This implies, in particular, that

$$\sum_{n \leq X} r_2(n) = \frac{1}{2}X^2 + O(X^2(\log X)^{-A}),$$

Since by Lemma 1 of Montgomery and Vaughan [8]

$$\sum_{n \le X} nS_2(n) = \frac{1}{2}X^2 + O(X \log X).$$

The purpose of the present article is to refine this under the Riemann Hypothesis (RH) as follows.